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Name______________________________________
Quiz #1  Sep. 28, 2017

1.
(10 pts) The pressure at any level in the atmosphere depends on the weight of the air  ABOVE  BELOW  that level.  Is the air density at the top of Mt. Lemmon (9000 ft. alt.)  HIGHER than,  EQUAL to,  or   LOWER  than the air density in Tucson (2500 ft. alt.).   

2.
(10 pts) If you were to warm a parcel of atmospheric air  the _________ would increase but the 
_________ would remain the same. (fill in each blank with  Volume,  Density, or  Pressure)

3.
(5 pts) To determine whether the winds will be fast or slow you should look at whether


a. the air is rising or sinking
b. the contours are widely or closely spaced


c. the air is hot or cold

d. the winds are clockwise or counterclockwise
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4.
(5 pts) The chlorine in CFCs plays a role in the  PRODUCTION  DESTRUCTION  of stratospheric 
ozone.

5.
(15 pts)  Is the temperature  WARMER  or  COLDER  than 100o F?  

Is 65 the value of the  DEW POINT  or the  RELATIVE HUMIDITY?

Are the winds blowing from the  EAST, NORTH,  SOUTH  or  WEST?
6.
(10 pts)  Cloud formation is more likely air   RISES  SINKS  and  WARMS  COOLS. 

7.
(5 pts)  Do the air molecules inside an inflated balloon take up  NEARLY ALL  


or  VERY LITTLE  of the space inside the balloon?
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8.
(10 pts)  A(n)  INCREASE  DECREASE  of air  DENSITY  PRESSURE  TEMPERATURE  
HUMIDITY with increasing altitude is called an inversion and produces stable atmospheric 
conditions. (circle one word in each group)
9
(15 pts) The air at point a is probably  drier and  COLDER  WARMER  


than the air at point b.  Does the figure show a  COLD  or  WARM  front? 


Is the front moving TOWARD  
or  AWAY from  point a?

10.
(5 pts) Photosynthesis is the source of most of the _______ in today’s atmosphere. 


a. H2O (water vapor)

b. CO2 (carbon dioxide)

c. N2 (nitrogen)


d. H (hydrogen)


e. O2 (oxygen)


f. Ar (argon)

11. 
(10 pts) A parcel of warm air will rise because the  DENSITY  PRESSURE  of the air inside the parcel is  HIGHER  LOWER  than that of the surrounding air.

12.
(10 pts) As we move from summer into winter in Tucson would you expect to see a decrease in the 
atmospheric concentration of  CARBON MONOXIDE,  OZONE,  or  PARTICULATE  MATTER.  
Does sunlight play a role in the formation of   LONDON  or  LOS ANGELES  smog?  

13. 
(5 pts) Sea level pressure normally falls in the range


a. 900 to 1000 mb
b. 950 to 1050 mb
c. 750 to 950 mb
d. 500 to 1500 mb
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14.
(20 pts) The _______ is the lowest layer in the atmosphere.  Air temperature increases with increasing altitude in the _______.  The _______ can be stable or unstable.  The ozone layer is found in the _______.  (fill in each blank with S for stratosphere or a  T for troposphere)

15.
(5 pts)  Low visibility would most likely indicate high _______ concentration in the air.


a. greenhouse gas     b. carbon monoxide     c. chlorofluorocarbon     d. particulate matter

16.
(5 pts) A gas furnace or hot water heater that isn’t functioning properly could lead to a potentially deadly buildup of _______ inside your home.


a. sulfur dioxide       b. ozone       c. argon       d. carbon monoxide       e. chlorine

17.
(5 pts) Before being plotted on a surface weather map, a pressure measurement (the station pressure) 
must be corrected for


a. longitude       b. time of day       c. altitude       d. latitude       e. temperature

18.
(5 pts) Isobars are contours of  ALTITUDE  DENSITY  PRESSURE  TEMPERATURE.

19.
(10 pts)  After being emitted into the atmosphere, _______ can travel hundreds of miles before 
reacting with water in clouds to make acid rain.  High concentrations of _______ is part of what 
made the Great London Smog of 1952 so deadly. [fill in each blank with O3(ozone), SO2(sulfur 
dioxide) or CO(carbon monoxide)] 

20. 
(10 pts) About 20% of the air we breathe is _________________________.  Carbon dioxide and 
_________________________ are the two main greenhouse gases.

21.
(5 pts) Decreasing _______ with increasing altitude creates an upward pointing force that causes hot air and helium-filled balloons to rise.


a. density

b. humidity

c. pressure

d. temperature

22.
(10 pts)  You would expect to find winds that spin  CLOCKWISE  COUNTERCLOCKWISE  and 
spiral  INWARD  OUTWARD  around a surface center of low pressure.
Extra credit (you can earn up to 10 pts)
1.
(5 pts) A sharp drop in the _______ is probably be the best sign that our summer monsoon has come to an end.

a. air pressure

b. air density

c. dew point

d. air temperature

2.
(5 pts) The highest atmospheric concentration of ___________________ is found in the stratosphere.

3.
(5 pts) An object immersed in a fluid experiences an upward buoyant force equal to the weight of the fluid displaced is a statement of a law or principle discovered by _______.


a. Galileo
b. Einstein
c. Newton
d. Archimedes
4.
(5 pts)  To determine Greenwich Mean Time (GMT), a 7 hour correction must be  ADDED  
SUBTRACTED  to(from) the local (Mountain Standard) time in Tucson.
Students may use the following two equations on this quiz

P = N k T / V     &     P = ρ R T

